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INTRODUCTION TO VHDL
Experiment 8c (Key Sequence Reader) Report

1. Explain why you needed key-debouncers (here, it is assumed that you used 0-to-1 transitions of the button signals).
2. How many distinct states related to key-entrance do you think are there in your design?

3. Describe the changes required in the design for a 10-key keyboard and longer key-sequences.
4. How would you enhance the design so that the preset secret key can be changed by the user too (think about the security issues too)?
Note : Follow the "turn-in" procedure explained in Experiment-2 report template.. 

